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Trigonometric Identities Cheat Sheet

Quotient Identities

. an(8) — sin(0)

tan(6) = cosEG;
cos(©

" cot(6) = sin(0)

Reciprocal Identities

" sin(6) = cscge)
e cos(0) = secl(e)
tan(8 cot(0)

Phytagorean Identities

« sin”(© )—I—cos (0)=1
1 +tan’(0 )—secz(e)
e 1+ cot’(8) =csc?(0)

Negative Angle Identities

* sin(-0) =-sin(0)
e cos(-0) =cos(0)
e tan(-0) =-tan(0)
e csc(-0) =-csc(0)

(26)
(26)
e cos(20)=2cos’(0) — 1
(26)
(26)

Co-function Identities

cos(6)=sin[% —ej
tan(0) =cot(% — e)
csc() =sec[§ —ej
sec(9) =csc[§ - e)
cot(9)=tan(% —e)

Double Angle Identities

=25sin(0)cos(0)
= cos’(0) — sin®(0)

=1 —2sin*(0)

Supplement Angle Identities



* sec(-0) =sec(0)
e cot(-0) =-cot(0)

Angle Sum & Difference Identities

e sin(o £ B) =sin(o)cos(P)
+ cos (o )sin(

=
~—

_ tan(o)tan(B)
1 F tan(o)tan(B)

Sum Ildentities

e sin(a) + sin(B)
o+

a2

e sin( o) -sin(B)
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e cos(a) + cos(P)

22 [ 52

e cos(o)-cos(B) =

2 sin( ¢ ;FB ]cos[ o-p )

f2)-+ [T
o2)- s [TEO
tan[g) - 1jirl$29)
wl 3 )=t

Product Identities

e sin(o)cos(B) = %(sin(oc +B) + sin(o

-8))
+ cos(ot)sin(B) = 5 (sin(c + B) = sin(a
-8))
+ cos(ot)cos (B) = 5 (cos (0-B) + cos(a
+B))
+sin(ot)sin(B) = - (cos (o-B) ~cos (o
+B))



